2012年成人高等学校专升本招生全国统一考试
英语
Ⅰ. Phonetics( 5 points)
Directions：In each of the following groups of words，there are four underlined letters or letter combinations marked A，B，C，and D．Compare the underlined parts and identify the one that is different from the others in pronunciation．Mark your answer by blackening the corresponding letter on the Answer Sheet．
(    )1．A．coach			B．float		         C．broad			D．throat
(    )2．A．riddle		    B．ripen	             C．privilege			D．primitive
(    )3．A．decision			B．comprehension		 C．extension	        D．pension
(    )4．A．brother		    B．thrill	             C．these			D．rather
(    )5．A．comb			B．thumb		     C．doubt			D．tablet
Ⅱ.Vocabulary and Structure( 15 points)
Directions：There are 15 incomplete sentences in this section.For each sentence there are four choices marked A，B，C and D．Choose one answer that best completes the sentence and blacken the corresponding letter on the Answer Sheet．
(    )6．Whenever he comes to our garden, he can’t help _______ the flowers.
       A．admires			B．admired		C．admiring		D．to admire
(    )7．—Where is Dick? Do you think he’s reached home by now?
        —He _______ home for a while.
      A．would be 		B．should be 	C．would have been 	D．should have been
(    )8．I hesitated for a long time, and in the end I decided to_______ the job.
      A．take			B．apply				C．find		D．search
(    )9．Steve looked at the envelope and recognized jenny’s handwriting _______．
      A．recently         B．immediately		C．exactly		D．frequently
(    )10．This time tomorrow, I _______ on the beach, enjoying the sunshine!
      A．am sitting		B．sit 			C．would sit		D．will be sitting
(    )11．The ukulele is a _______ instrument, which resembles a guitar.
      A．Hawaiian musical small			B．small musical Hawaiian				 C．Hawaiian small musical			D．small Hawaiian musical
(    )12．—Do you like my new shoes? They were only ￡15.
         — Wow! That’s cheap,what a _______!
      A．gain			B．profit			C．bargain		D．win
(    )13． _______in thought while driving,he almost ran into the car coming in the opposite direction.
      A．Losing			B．Lost			C．Lose			D．To lose    
(    )14．You can’t imagine _______ foolishly be behaved at the party.
      A．how			B．that        C．what         D．so
(    )15．I don’t want to watch the football match. Can you _______ Channel 9?
      A．change in		B．change over		C．change to 	D．change into
(    )16．Women cmployees _______ the same salaries as men for doing the same work.
      A．are paying             B．have been paid
      C．paid                  D．have paid
(    )17. Never _______ the weather been so bad in October.
      A．is            B．are         C．has          D．have
(    )18．Many careers require a college degree; some jobs, _______ ,only require previous experience.
      A．however			B．therefore			C．moreover		D. furthermore
(    )19．The clock has stopped. I _______ get it go again and set the alarm. Or I will be late again tomorrow.
      A．coule         B．might        C．would           D．must
(    )20．Don’t ask him bow old be is—be’s really_______ about it.
         一Yes．And I also told him she_______ until the next month．
      A．sensitive    B．careless        C．cautious     D．anxious
Ⅲ. Close(30 points)
Directions：For each blank in the following passage，there are four choices marked A，B，C and D．Choose the one that is most suitable and mark your answer by blackening the corresponding letter on the Answer Sheet．
Physical activity through sports can enhance your child’s physical health. Sports can also have a positive effect on his mental health. Sports participation helps children ___21___ life skills suck as learning to ___22___ with loss and disappointment these mental health benefits can be ____23____ helpful during the challenging years of adolescence.
　　As your child grows and his body changes, confidence and self-esteem ___24___ from a positive body image. ____25____ sports participation helps your child____26____ a healthy weight and see his body as a ___27___ to succeed on the playing field. A good body image improves mental health so that your child is less ___28___ to experience feelings of low self-worth.
　　Children who participate ____29___ sports must learn to work with their teammates to ____30____ a goal. Through sports, a child is ___31___ to build confidence in his abilities. Winning does not have to be the only confidence builder. A ___32___ pass or assist during a game also improves confidence.
　　Exercise and sports participation have been ___33___ to have antidepressant (抗抑郁的) effects. Children who play sports generally report having a positive ___34___ on life. Improved self-esteem can ___35___ a child not only in sports events, but also in academic performance.
　(    )21. A.stimulate      B.develop       C.motivate      D.create
　(    )22. A.deal          B.make         C.disagree       D.struggle
　(    )23. A.actually       B.specifically    C.especially      D.merely
　(    )24. A.arise          B.raise            C.lift         D.move
　(    )25. A.Typical        B.popular         C.Common    D.Regular
　(    )26. A.retain          B.reserve         C.maintain     D.prevent
　(    )27. A.form           B.tool            C.symbol      D.technique
　(    )28. A.likely          B.hardly          C.gradually     D.really
　(    )29. A.on            B.in              C.with         D.over
　(    )30. A.settle          B.arrive          C.obtain        D.achieve
　(    )31. A.able          B.capable          C.qualified     D.skilled
　(    )32. A.frequent       B.free             C.successful    D.gradual
　(    )33. A.implied       B.applied          C.referred       D.shown
　(    )34. A.meaning      B.outlook          C.expectation    D.approach
　(    )35. A.improve      B.demand          C.benefit        D.promote
Ⅳ. Reading Comprehension (60 points)
Directions：There are five reading passages in this part．Each passage is followed by four questions．For each question there are four suggested answers marked A，B，C and D．Choose one best answer and blacken the corresponding letter on the Answer Sheet．
Passage One
For generations, the Nganyi people of western Kenya have served as rainmakers, helping local communities decide when best to prepare their land and sow their seeds. By observing subtle changes in nature that would be unnoticeable to most people-in air currents, the flowering and shedding of leaves of certain trees, the behaviour of ants, bird songs, etc-they have been able to interpret weather patterns and provide valuable advice.
　　But the irregular weather patterns brought by climate change mean the rainmakers can no longer use those sighs to make their predictions. And they don’t have access to the technologies available to meteorologists (气象学家).
　　“Climate change has come on so fast. People don’t know how to adapt or what to plant,”says Obedi Osoce, a traditional weatherman. “Our traditional crops are disappearing because they cannot handle the new conditions. We need new strategies to handle climate change.”
　　Now a British-Canadian project si doing just that, linking the rainmakers with government meteorologists. The two groups get together each season and produce an agreed forecast to be spread using a variety of methods suited to communities where many cannot read or write-through ceremonies, public meetings and person-to person comma-kation.
　　Both parties are pleased with the collaboration. “ I think the two sciences equally valid. We are marrying our energies to help people better,” says Mr. Onunga, a Nganyi community elder involved in the project.
　　‘The results have been surprisingly good-the community agreed that the forecast was accurate,” says Gilbert Ouma, a lecturer at the University of Nairobi.
　　“Through this project we hope to learn what it is that we can share together to live today and to adapt to tomorrow,”says Professor Laban Ogallo, leader of the Nganyi project.
(    )36. Which of the following has been used by traditional Nganyi rainmakers in weather prediction?
　　  A.Plant seeds        B.Dog harks         C.Bird songs     D.Ocean currents
(    )37. What difficulty do local rainmakers face in making weather predictions?
　　  A. They cannot find an effective way to deliver messages.
　　  B. They lack modern technologies to cope with climate change.
　　  C. They cannot get financial support from the local government.
　　  D. They lack the facilities to stop traditional crops from disappearing.
(    )38. How do people involved in the British-Canadian project feel about their cooperation?
　　  A. Satisfied        B.Confused        C. Hopeful       D.Regretful
(    )39. Which statement best expresses the main idea of the passage?
　　  A. A British-Canadian project has been carried out to solve farming problems.
　　  B. The Nganyi people have made weather forecasts by observing changes in nature.
　　  C. New technologies have replaced traditional methods in weather prediction in Kenya.
　　  D. Scientists and Kenyan rainmakers work together in a joint weather prediction project.
Passage Two
After taking a six-week, fully paid maternity leave (产假) earlier this year, Francine Gemperle was anxious to resume her job but reluctant to be away from her baby daughter, Veronika. Fortunately, she did’t have to choose between them. Maya Design, a Pittsburgh based creative consulting firm, allows parents to bring newborns into the office.
　　“If I’d had to leave my children after my maternity leave ended, I would never have goes back to work,” says Gemperle, a designer and researcher, who brought her son Milo into the office after he was born.
　　She’s not the only parent taking advantage of the benefit. Senior analyst Jon West brings his 10-mouth-old son, Owen, to the several times a month. In fact, when West considered using only part of his paternity leave, his co-workers urged him to take all six weeks.
　　“I had pressure to take that leave,” recalls West, “People told me, it’s an important part of your life and you need to experience it.”
　　“No matter how quiet the baby is, it’s an obvious distraction (分心的事),”says Tory Johnson, the chief executive of Women for Hire, a New York City-based recruiting film.
　　No one has complained yet. Even if somebody did, it wouldn’t matter to Mickey McManus, Maya’s CEO and president, who argues that the policy builds loyalty and helps parents shift back into work mode.
As part of its balancing act, Maya shares up to 20% of quarterly profits with its employees. However, the size of those checks might be up in the air at the moment. The firm once laid off five workers and it is now considering 4-day weeks to avoid more layoffs.
“Be transparent,” McManus advises, “so workers know they can trust you”
(    )40. Which of the following is true about Maya Design?
　　  A. It hires women with families.
　　  B. It has some overseas branches.
　　  C. It provide consulting services.
　　  D. It encourages the staff to work at home.
(    )41. What is Tory Johnson’s responsibility according to the passage?
　　  A. Taking on women employees.        B. Dealing with women’s complaints
　　  C. Dismissing unqualified women staff   D. Taking care of women staff welfare
(    )42. What is the advantage of Maya’s policy according to Mickey McManus?
　　  A. It cuts down the management cost.     B. It increases staff loyalty to the film
　　  C. It keeps a balance between work and life. D. It promotes equality un employment.
(    )43. Which of these would be the best title for the passage?
　　  A. A Flexible Working Schedule
　　  B. A staff shortage in Maya Design
　　  C. A Pittsburgh-based Working Place
　　  D. A Company Taking Care of Young Parents
    
Passage Three
    Harry Potter fans will instantly recognize the snowy owl as Harry’s famous companies, Hedwig, but these beautiful owls are easily recognizable not for their magical associations, but for their large size and striking while feathers. Snowy owls are, in fact, the only white owl, and they are a highly sought after species for many birdwatchers to add to their life lists.
　　Foods: Small mammals, birds, fish.
　　Habitat and Migration: Snowy owls are found in far northern latitudes including tundra, a vast treeless frozen region in the Arctic. Their breeding grounds (繁殖地) are in the Arctic tundra, and they migrate south throughout Canada during the winter. In exceptionally server winters or when food supplies are searce, these owls can appear much further south than their normal range. While principally a North American bird, they can also migrate to the northern areas of Europe an Asia.
　　Behaviour: Snowy owls, like all owls, are powerful animal bunters that are active mostly at night but can bunt and feed during the day, especially when food supplies are low. These owls will rest on the ground or on rocks, stumps and other low favorable points. Males can be fierce when defending the nest, and both genders will also perform an “injured bird” act to tempt animal invaders to go away from the nest.
　　Reproduction: Snowy owls may incubate (孵卵) 3-10 eggs for 30-34 days, or the incubation may be done primarily by the freak. The baby owls remain in the nest for 14-21 days and will attempt their first flight when they are 42-58 days old. Mated pairs will raise one group of young birds per year unless food supplies are inadequate and then no eggs may be produced.
(    )44. What have you learned from Paragraph 1?
　　  A. Harry Potter fans like snowy owls
　　  B. Hedwig is one of the snowy owl watchers
　　  C. The snowy owl is a large bird with white feathers
　　  D. It is easy to find snowy owls in snow covered areas
(    )45. What does Paragraph 3 tell about snowy owls?
　　  A. The can be found in Asia and Europe
　　  B. They live in groups in hard winter days
　　  C. Their breeding grounds are in areas south to Canada
　　  D. They appear in the Artic when food supplies are scarce
(    )46. For snowy owls, one way to defend their nest is _____
　　  A. to stand on a rock nearby       B. to pretend to have been injured
　　  C. to spread their wings          D. to give a warning
(    )47. What will snowy owls probably do when food is insufficient?
　　  A. They may stop producing eggs     B. They will reduce their flights
　　  C. They will be less active at night     D. They will only hunt during he day

Passage Four
We lost two superstars in 1977. Neither man’s admirers have been able to understand the success of the other one. And this tells us something of the difference between the generations that the two singers represent.
　　There were similarities between Bing Crosby and Elvis Presley. Both reached fame while young and became very rich. Although neither one had any musical education, both developed their own musical styles, which were first criticized by the critics and later studied as new forms in the art of popular song. Both men had successful movie careers despite a total lack of acting ability.
　　Both were creations of the microphone, which made it possible for singers with weak voices to be heard beyond the third now. With Bing the microphone was usually hidden; but Elvis brought it to the stage.
　　The difference between the two men reflects the changing values in American life Crosby’s music was soothing( 令人舒畅的) , Presley’s was disturbing. Crosby was singing to wartime America. His audiences had all the disturbance they could handle in their private lives, they did not want to buy more at the record shop and the movie theater.
　　Crosby’s admires always said how “relaxed” and “natural” he was. When Presley began his career, the whole country had become relaxed and easygoing. Its young people, who had no memory of trouble times, found it boring. They were hungry for excitement. They welcomed Elvis, who was certainly not the kind of young man their parents would admire. Presley was load and vulgar( 粗俗的) —— and be was bringing something new and exciting.
　　It is probably too simple to explain each man in terms of changes in the economic and political situation. Something in the culture was also changing.
(    )48. Which of the following could be inferred about Crosby and Presley?
　　  A. They died in the same year.
　　  B. They became popular in 1977
　　  C. They influenced each other in music
　　  D. They represented the postwar generation
(    )49. In which aspect the singers are similar to each other?
　　  A. Their songs were widely used in movies
　　  B. They became famous in late year of their lives
　　  C. Their musical styles are recognized by the critics
　　  D. Neither of them received any formal musical education
(    )50. What did Crosby’s audiences get from his music?
　　  A. Excitement     B. Disturbance     C. Ease and comfort     D. Passion and thrill
(    )51. What is most Presley to be discussed if the passage continues?
　　  A. The political situation that the two singers faced
　　  B. The cultural changes that the two singers experienced
　　  C. The economic influence on the music of the two singers
　　  D. The message that the two singers expressed in their music

Passage Five
There are millions of left-handed people in the world. A number of them got together in 1975 to form an association called Left-handers International. The purpose of the organization is to fight discrimination (particularly to jobs) and to inform the public. They want everybody to understand the left-handers are neither “strange” nor sick nor dangerous.
　　Many studies have been made recently about hand preference in humans. They have brought interesting results. It has been found, for instance, that many more men than women are left-handed; that all children use both hands about equally until they are three years old; and that hand preference is not clearly marked until age six. Above that age, most people not only favour one particular hand but also have a favourite eye, a favourite ear and foot.
　　We know that the left side of the body is controlled by the right side of the brain, which seems that this particular half is the seat of emotions, imagination, and of the sense of space. And, indeed, lefties in seem to be more creative than the right-handers; they also seem to be more athletic and to do better in some professions which ---like sports----require a good sense of space. In a large school of architecture , it was found in 1977 that 29% of the professes and 23% of the graduating students were left-handed---while lefties represent less than 10% of the general population.
　　Finally, left-handers may be more stubborn and impulsive( 冲动的) than right-handers. And they are more likely to suffer from problems such as stuttering( 口吃) and a difficulty in reading called dyslexia. The problems are more serious in left-handed persons who have been forced to favour their right hand. Doctors insist that one should never try to change a child’s hand preference.
(    )52. What does Left-handers International aim to do for left-handers?
　　  A. To create new jobs            B. To promote equality
　　  C. To show discrimination         D. To study hand preference
(    )53. According to recent studies, when is hand preference formed?
　　  A. Before birth                  B. At birth
　　  C. At age three                 D. At age six
(    )54. Compared with right-handers, left-handers______.
　　  A. are less creative            B. are more easygoing
　　  C. have a better sense of space   D. do better in most professions
(    )55. Left-handers are advised to stick to their hand preference because_____.
　　  A. it is fun and comfortable to be left-handers
　　  B. the left hand is just as good as the right hand
　　  C. it is difficult for them to switch to the right hand
　　  D. changing hand preference may cause serious problems
Ⅴ. Daily Conversation (15 points)
 Directions：Pick out five appropriate expressions from the eight choices below and complete the following dialogue by blackening the corresponding letter on the Answer Sheet．
 (
A. I know a good place 
                        
B. You’re welcome
　　
C. Not really 
                                
D. Have something to drink
　　
E. Any one
                                 
 F. There’s nothing good
　　
G. Any suggestion 
                           
H. Yes Why
)




July: Are you free this evening?
Jack:____56____?
July: Shall we go and see a movies?
Jack: I love movies, but ____57____ at the moment. What about going to a concert?
July: Sure, I’d love to. ____58____?
Jack: Here is a good one, Mozart and Brahms. It’s on at the Festival Hall. Shall we go to this concert?
July: Fine. We’ll go to this one. Do you want anything to eat now?
Jack: No, I’m not hungry.
July: Well, let’s ___59___ instead.
Jack: ___60___ for that. Let’s go.
July: Good! Let’s go.
Ⅵ. Writing(25 points)
Directions：For this part，you are supposed to write a composition of about 100—120 words based on the following situation．Remember to write it clearly．
61. 你 (Li Yuan ) 负责组织一次班级郊游活动，请根据以下体术写一份通知：
· 本次郊游的时间和地点;
· 郊游的具体活动内容
· 要求各自准备一道菜或点心与大家分享;
· 列出必带物品，如：相机、雨衣/雨伞、遮阳帽、手电筒等;
· 感谢大家的合作。
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　　III. Close ( 30 points, two points each )
　　21.B 22.A 23.C 24.A 25.D
　　26.C 27.B 28.A 29.B 30.D
　　31.A 32.C 33.D 34.B 35.C
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　　36.C 37.B 38.A 39.D 40.C
　　41.A 42.B 43.D 44.C 45.A
　　46.B 47.A 48.A 49.D 50.C
　　51.B 52. B 53.D 54.C 55.D
　　V. Dally Conversation (15points, three points each )
　　56.H 57.F 58.G 59.D 60.A
　　VI. Writing (25 points )
　　写作评分标准
　　一. 评分原则
　　1. 本题总分为25分，分五档给分。
　　2. 评分时，先根据文章的内容和语言确定其所属档次，然后根据该档次的具体要求给分。
　　3. 纳入第五档次的作文应取得至少两位阅卷教师的认可。
　　4. 字数不足100或超出120的，酌情扣1分-2分。
　　5. 拼写与标点符号的标准性视其对表达的影像程度予以评分。英、美式拼写均可。
　　6. 如书写较差，以至影像表达，将分数降低一个档次。
　　二. 评分标准：
　　第五档
　　(21分-25分)
　　很好的完成了试题规定的任务。
　　主题突出;内容充实，层次分明;行文流畅;使用了丰富的语法结构和词汇;基本无语言错误。
　　第四档
　　(16分-20分)
　　较好地完成了试题规定的任务。
　　主题明确;内容完整，层次清楚;文字连贯;语法结构有变化，词汇比较丰富;有少量语言错误。
　　第三档
　　(11分-15分)
　　基本完成了试题规定的任务。
　　主题不明确;内容尚完整，有层次;语句较通顺;虽有不少语言错误，但不影响内容表达。
　　第二档
　　(6分-10分)
　　未能按要求完成试题规定的任务。
　　主题不明确;内容不完整，层次不清;缺少连贯性;语句欠通顺;有较多的语言错误，影响了内容表达。
　　第一档
　　(1分-5分)
　　未完成试题规定的任务。
　　明显跑题;内容贫乏，结构层次混乱;语句不通顺;有严重的语言错误。
　　0分
　　所写的内容与试题要求毫不相关，语句混乱，无法理解。
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worker sod it o comsidring 4-day wecks 0 avoid more ol

“Be wansaren”McManus dvise, 30 woekers know ey can et

important part of
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40, Which of the following s rue abo Maya Desiga?
A+ ebires women with it
B It e overscas benches.
. 1t provides consuling services.
.t cocourspesthe st work ot bome.
41, What s Tory Johason'srespomsiilty scconin 1 the passge?
A, Takingon women cmpioyees B Deslng with woeco's complios.
C. Dimisiog voqualiied womea sall D, Taking care of women saff's welfite:
42, What s he amtage of Mayw's polcy acconding 10 Mickey Mebtamus?
A, Meut down the managercen ot . W increases staff oyaly o e fiom.
€. W keeps #balnce betwen work and lfe. D, 1t poeaoes oquality i comploymei.
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Which of these would be the bent e foe the passage?
A A Flexible Warking Schodule

B. A Saff Sorage i Maya Design

€. A Pitsburgh basd Weeking Place

.. ACompuay Taking Care of Youag Paests
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Passage Three
Hany Pocier aas wil istaody recogaize th saowy owl s Hary' famous companicn,
Hodwig. bt these Beauifl and powerfl ows ae casly recogaizable ot fr their magical
assocations, but ot thei argesize and sriking whike fuers. Saowy owls v, i fct,the cnly
Wit owl, and they are  Bighly sought atr species for many birdwachersfo 84 fo thei lfe
.
Foods: Sl marmals i, s,
Habltat and Migraton: Soowy owls s foudin fa nocthen it iching s, .

ks sod ey migte souh Srovghot Canads dhrin th witer: In excepdonly severe
inkrs o when food supplesar sarce,thse s can appesr moch farther suth than i
oorml rnge. Wi priscpaly a Nort Amican b, ey can als migre to th vontbern
e of Eucpe snd Asia

Bebavionrs Sacuy owin, ik all i, e powerul i b that e active sty
¢ ght bt can b d feod uring te dy,cpecill when food upplicsaelow. These ol
il 0 e g o on ocks, s ad oder o ivurabe o, Male e be e
wben deendin the s, 124 b grdens wil e prform s “red " act 10 ey
aninalinvades o g0 swayfrom the st

Reprodaction; Saouy owls may locsbae (W19) 3:10 exps foe 3034 du, o he
Incubain may be oo prieurily by the femae. Te by owk emin i the met o 1421
ey nd il e i Kt igh when ey e 4258 dey okt Mated pis will o cme
74P of young e o e s o supples e indeque ad e 0 gy b
produced.
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‘What bave you lewmed from Pucagraph 17
A Hamry Por fans ik soowy vl
B Hodwig is coc of the soumwy ol wichers.
€. The smowy owl i  arp bid with whit fuers.
D, Mis casy o fid soorwy ol i s covere ares.
45, Whatdocs Pasgraph 3 el about snowy owls?
A. They can be fouad in Ass d Eoge.
They i n groeps i hard winke days.
C.. Theie breeding grousds ae in arcs south 1o Camds
. They appes i the Artc when food sopplic e e
46 Forsnowy o, coe way o defed i oot

A 10 sand cna rock ety B 1o preend o have ben ijured
C. 0 sprend hei wings D. o givea waming.

47, What wil soowy owls pobubly do when food is insulliicat?
A They may siop producing cgas. B They will wdice hie fights.

C. They will e fess actve st might. . They willcny hust durig e day.
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Passage Four

W ot o, spertar i 197, Neihr ran's adiers bave been abe o undentand the
ocess of e cter oo And ths el s s o e dflcesce eween e geeation it
0 two singers reprscnt.

o were simlacis betweca Bing Crosby and Elvis Presey. B teached fune whike
youmg 224 bocume very rich. Aktbough e cne hd sy musical cdctcn, both developed
heir o musiclsyls, wbich werea it crticzed by the critis 1 ke s s e forms
i e art of populr scog, Boh men b seccestol move carees dspie 3 ol ik of acting
abiy

s were cretonsof e mcrobone, wbich e  posible forsingers wih wek voices
1 beand beyoedthe hird row. With Biagthe cropbene was il hiken; b Evis bosght
o te e,

The diflccnce betmeen the two e reflcts the changing vacs in Amercan e Crosby's
ke was soobing (4 ASFAHIN) Prsey's was dirbing. Crosby was singiog o warine




image12.png
America. Hi sudicoses had althe dstusbances thy could bae i thei pivte lives; ey did
104 wank 0 by e a the e shp nd the e thee

‘Crosby's admirers ahways said how “relaned” and “maural” he was. Whea Presiey began b
cureer, the whole counry had become, relaxed and cxsypoig. I young, peupl, who had oo
mesmiy of oubled times, o it borag. They were hungey for excitment. They welcomod
v who was corinty ot the kind of young man i parents would adsre. Presiey was o
0 velgar (B39 s he was ringin soembing new and excing.

1tis probably 100 simpe 10 explain each run in e of changes i te comoenic and
Poltial siation Someshing i the culue was ks changiog.
48 Which of the olloing coud be nfered about Crony sod Prsiey?

A Thoy diod in e ame year.

B They becume popaarin 1977,

C. They iaflacozed each uer i .

. They repescted the postwar eoceain.
49..In which aspct the inges e sl o cach cbr?

A, Their songs were widely wod in movies.

B They bocame fumous n i yeasof e lves.

€. Theie musica yles e ot rocogaized by the crivic.

. Neithr of hem rceived sy formal musicl odocation.
0. What 54 Crosby's saences et froe i music?

A. Exicoest. . Disubeace.  C. Eaiesadconfort D, Pasionsnd el
1. What i et Bty 8 be thscussd f e passag comines?

A The politicalsisution that the two inger fced. -

B. The cutural changes that the two sngers experiocod.

€. The ecomomic infocnce oa the mmsic ofthe two inges.

D The messages that the two singes xpressed o thei .
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Pasage Five

Thce e milions o e dwaded peoie i the word,A b of e et ogethr o 1975
o form 1 inion called LfihonderIrarioma.Toe s of b cxpmizan s o igh
dicrimiasion (pariculary i obs) ad 0 informthe public, They wanteverybody o udertand
e left-bandersare either “sange” o sick e dangevos.
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Many studics have becn made rccdy about hand peefrence i hursane. They have brought
imtersting rosuls. 1 has boen fouee, fo imsance, that many meee men than women are lf
haadod; that all chikren use borh bands st equaly ] ey ae three years cid: and that hand
prefernce is ot clealy markod il age six. Abose tha sge, most peopl ot aly favour cee
particulr b bt sl Bave  favoure eye,  fivourite ar and foot

‘We know it the e sde o the by is controlod by the right side o he beae, which secs
s pariclar Nl i he st of cmctions, rginion, and o e e of space. ADd,feed,
et scm 10 be moee crestv than the right Bundens;they o seers 0 b e s 04 1 6
et i some proessions which—ike sports—requie  good sense of pace. I & are school of
archiectue, i was found ia 1977 thit 29% of the profesces sed 23% of the graduting stadents
‘were e badod—while efies rpeesnt s then 10% ofthe peners pogulation.

Finally, let-banders may b ore stubborn and more mpulsve (P 7311) than right asders.
And they are e likely to sffr v problems such s sutring (C1%) aod & dificuty i
reading caled dysieia. The problems are more srkons in eft handod pesons who have been
forced 1 fivour thei right band. Docsors sttt coe shoskd pever try o chuage & chikf's hand
preference.
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2. Whist docs Lefthanders International it 10 do fo let-banders?

A Tocreso new jobs. B. To promote eqalty.

C. To sbow discrimiastion. . To seady huod preerence.
3. According o eceot stadies, when i b preference ormed?

A. Befor bih. B. Atbint.

C. Atagetres, D. Auagesix
4. Comparod withright bander,fibanders

A are s creaive .. are more sygoing.

€. have a besersense of pace D. do bettrin most professions.

5. Lef-handers re dvised 0 stick 1 teirband peefernce becasse ____,
A it and comfortble o be e b
5. the eft hand i just a8 pood s the right b
€. i il for themto vwch 1o the right hand
D, chunging bae eefercnce may cae serous problems.
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V. Daily Comversaton (15 poiats)
Directions: ick out appropriste cxprenioasfrum the cight choies below and complete
the follomag dislogue by blackcaing the corrvsponding lter 0a the Answer Sheet.

A~ Tknow s pood place B Vou're weloome
. Noereaty . have someching o rink
B Anycac P, here'snoing pod
G. Any sugpesions H Yex Way

ol A youfoe this evesing?

Jacks_s6_7

Judy: St we g and sce o

Jack;ove movics bt _S7_ athe momest. What sbot oing 0.3 coocer?

Judy:Sure, Fdlovero. 387

Jack: Here s 8 good coe, Mot and Brahms I's on o the Festval Hall. Shall we g0 to this
concert

Jody: Fioe. We'll o 10 this cne. Do you want anyin o cat now?

Jack: No, ' ot bemry.

Jody Well, etk _59_ fstend.

e 60 for e Lecgo.

Jody: Good! Let's .
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V1. Wridog @5 poiats)
Dircctions: For this part, you are sspposed (o wrie an csay n English fn 100-120
words based 0 the folawig information. Remermber to wrte it clerly.

61 5 (L Yona) LB KHABRIGH. WHMELF IR — gk,

« KESSHOMMRIA,

- BHORWEDNK:

© ERENREMRRACATH K

° FELRWE, B L WS, BRI TN,

- BRIENY.

e

.
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RERER RTINS

L Phanetics (S points,ome poiat cach)
Le 28 3A 4B 5D

I Vocabalary and Structare (1S polat, one poiat each)

6c 70 LA 9B 10.0
o ne s 1A 1s.C
168 nc 1A 9.0 24

1L Claze (30 potais, two polnts each)

18 2A nc 70N 30
6c ns WA »8 0D
A ne 3D un 1.c

IV Reading Comprebension (60 polats, three poiats cach)

e B WA ».0 wo0c
aLA as oD “c 4sA
“n A A ) s0.c
s 28 s suc 5D

V.. Daily Conversation (15 poiats, thce polots each)
e aF %o %0 @A
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D WO, ABBLROABRBNRTOIRI, RERRABKDRIERGS .
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© FRFL 100 R 120 6, WIID1 525
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ML RALDNWR.
EL R T R OHESR.
6B-205) MR ABRS. RARE, TR, WAMEHEC, AL
|, wommawn.
P EARRT REMTNESR .
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2. A simulate
2. A deal

B. develep
B, make

C. motivae
C. dmgre

D. crese
D. ruggle
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C. expocation
C. benett
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1V, Reading Comprebension (60 points)

Direcions: Thereare e eading pssage n thls pat. Each pasage s follomed by four

question. For cach question thee ar four saggevied answers marked A, B, € and D.

Choane the best amer and blacken the correspndin ket on the Amswer Shet.

Pasage One.

For pocrtion, e Npamy peole of weser Kenya bve servd as riamaker, elping
Hocl commmunities deid when best 0 pere et and 2 s e sds By chrvng sl
chunges i o that woukd b unmocesbl o ont pple—in i curcec, e lomeriog and
hding of fuve o crain e, e bebavions o s, b wongs, ey bave bocn bl 1
et weathr puticns s provide alablc e,

Bt b iegular wesber puirns bought by climse change moan b riomakers can 50
ger e those ign o ke s predctions. And ey o't bve cces 0 the echaogies

e o ol (X FH)
~Clamte chang b com o s . Pcple o' ks b o o w1l sy




